
1
2 = 1 ÷ 2 3

7 = 3 ÷ 7 

1
5 = … … … … … … 

1
12 = … … … … … … 

1
8 = … … … … … … 

1
9 = … … … … … … 

3
5 = … … … … … … 

7
12 = … … … … … … 

5
8 = … … … … … … 

7
9 = … … … … … … 

Can you change these fractions in to decimals? 

What answer does the  
calculator show for 
 
What do you think the  
calculator will show for 
 
Investigate the decimal  
form of 

1
11, 2

11, 
3

11, 
4

11,
5

11? 

6
11, 7

11, 
8

11, 
9

11,
10
11 

1
99, 2

99, 
3

99,…… 

Can you apply the 
method you have 
learnt to convert 
these improper 
fractions in to 
decimal numbers? 

25
4

 51
6

 28
5

 

Give the answer to the following in these 
three ways: 

 
a)  7 2    b)  17  4   c)  18  5  d)  15  6 

 
e)  11  4  f)  29  5  g)  42  8  h)  36  10 

Find the best for of the answer for each of 
these division problems (use one of the three 
ways). 
 
a) Frank cut 30 metres of string in to eight 

pieces of equal length. What was the 
length of each piece? 

b) How many 8p piles can be made from 70 
one pence coins? 

c) £45 was split equally between a family of 
6. How much did each person get? 

d) Mr Norbury was putting up a 43m long 
fence. He used 5 posts spaced equally. 
What was the distance between each 
post? 

These two pictures above 
demonstrate how 5 circle can be 
split exactly in half. However, can 
you see how the pictures show 
that the following is true? 

2
1
2

 = 
5
2
 

7

3
= 7 ÷ 3 = 2 𝑟 1 = 2

1

3
 

Change the following improper 
fractions to mixed fractions: 

9
2
 71

8
 46

7
 

Put these in ascending 
order: 

5
3
8

 , 42
8

 ,  5 .32 


